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1 [BIREK S KR 512328%xskskkxk3045 % 94 200 P 5 IS K 133%%%%%559 =
2 BRI S FHE 512328 %kkkskkx%x3047 % 92 200 Ml 5 15164 X 153s%%%%%854 i
3 |BIRXKKS 7k 512328k 3035 5 86 200 P & WEA 17 Tkkk%1 28 =
4 |BIRXKEK Y e 512328 s%kskskskokkk303X =z 86 200 Ml & AR 181 **%%%140 e
5 ATRHK S KEx 512328%skkkkk4%3048 % 85 200 M 5 R E A K 183%**%x535 =
6 |BIRKEKY KR A 512328 %kxksk%x%x3038 5 84 200 MW 5 g X 158s%k%%%978 =
7 BRI S FAKE 512328skskskskokokokk3033 5 84 200 AW 5 LA 182%k%%639 =
8 |BIRXKEKY EX o 512328%xxkk%x%3038 7 87 200 Bl 5 K04 K 155%%%%%7 62 =
9 |BIRXEK Y Z KA 512328%kxkkkxx303X z 84 200 MW 5 X IEA 139%kskk4 3 1 =
10 |BIRKEK Y HHED 512328 %skskokskokokok3 043 “ 92 200 W 5 XA 139skk%k4 3 1 =
11 [BIRAK S FAF 512328sskskskkokokk3036 5 84 200 MW 5 LA 189%xkxx037 =
12 |BIRXKVK S ELl 512328 %skskskskokokok3 049 4 82 200 Ml & LA 178%%%%*282 e
13 |BIRMES FHIE A& 512328%kkkkkx*3054 z 81 200 MW 5 Mg X 173%%%%%862 =
14 |BIRMKS EEE 512328 kkkskknk3037 = 81 200 WMl 5 E A 17T k4% 141 =
15 [BTRYKS E %k 512328 %kkkkkx%3045 S 81 200 W 5 LA 173%kk4%x83 1 =
16 [HIRMIE S FER 512328 %kkxkkx%3039 7 81 200 MW 4 FAA 132%%%%%319 =
17 [BIRXME S e 512328kkskkxk3033 2 81 200 il 5 Mg X 182%xx%x441 =
18 [BIRKK S x| 7T 512328 xkkkkkxx3045 ES 81 200 Ml 5 1164 X 173%kk%%435 =
19 |BIRXKMK S FRX 512328 %ksskskokxx303X 5 81 200 P 5 1A X 152%%%%%207 =
20 [BATIXMIE S FXE 512328 kkkkkkx%x3038 7 82 200 MW 5 LA 191 %%k%%039 =
21 |BIREEL S FHH 512328%xkkkkx%3037 z 67 200 MW 5 E A 15 7H%%%%373 X
22 |BIRAK % Z BT 512328k %303 | 5 78 200 Ml 5 1164 X 130ssksksk73 1 K &E
23 [BIRXPK 4 EXE 512328tk 303X 7 68 200 B 5 EMA 1525k5kk%262 KEE
24 |BIRAMI S H A 512328 %K%Kk %3030 7 65 200 Bl 4 i X 150% k%783 KEE
25 |BIRMK S Brz 512328 %k xkkk%3062 4 77 200 AW & 15 W4E X 177 #5%%%665 KR8
26 |BIRAK % FHE 512328sskskskkkxx3030 5 75 200 Ml 5 1164 X 188519 K &E
27 |[BAIRXPK 4 FHZ 512328tk 304X % 69 200 B 5 MEA 132skskkx467 KEE
28 [BAIXMIE S g 512328 %kkxkkx%3037 7 78 200 Ml o MAE A 138%xk%x583 KEE
29 BT REIL S B 512328%xkkkkx%k3043 4 78 200 MW % E A 13 1324 X
30 |BAIREKL Y WEE 512328sskkskkkxx3045 S 62 200 AR = 183kkk%192 K &E
31 [BATIRXPK g 2 512328 %kkkkkx%3038 E 66 200 B 5 Mg X 136%%5%%762 KEE
32 [BIREK S = 3E 512328 skskskkk3045 % 76 200 B 5 FA 157 %kkkx853 KEE
33 [BIRMK 4 B AR 512328%kxkkkxx304X 4 66 200 B 5 Mg X 173%%%%%862 % &




34 |BIRMI S e 2K 512328%kkkkckkk3044 % 64 200 M 4 B A 17 3ok 340 PNl
35 |[BIRMKY e 422826%¥sk3k4%3526 ES 81 200 Mk & b X 173%kk5%408 =
36 BT RAS M & FEE 512328 skkkkkx%k3036 5 83 200 Ml & MEH X 155%x*%x088 =
37 BTIRMIE Y A 512328%kkkskkxk3044 4 87 200 Sl 5 L F A 135%k%%%137 =
38 BT RAMIK S F 7 E 512328 xkkk**%%399 1 2 77 200 M & W E A 17 3skokskk8 28 k&b
39 B RAZ WS & TKAR 3 512328sskskskkokokk3 042 4 61 200 B & 24T A 130%kkx627 % Bk
40 B XA S HIE A 512328%¥xkk%x%x3034 L2 80 200 b 4 ML A 183skkkk374 S
41 BIXAIE S kKEE 512328 %kkskkkx%3033 B 81 200 b 4 41 3 X 15 1k 374 =




